OPEN GEAR END CARRIAGE

O GW160-D25

W: wheel set |
B: wheel block

E: end carriage

wheel diameter

D: doulbe girder

end carriage length

26
www.nantecrane.com



Open Gear End Carriage
OGE

oL
ez
9z

\N
!__
|

|
\\nf

Model oD S1 S2 A ®B s C KO Q P
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
OGE120-12 1200 1616
OGE120-17 1700 2116
120 50 60 150 215 60 10 92
OGE120-22 2200 2616
OGE120-27 2700 3116
OGE140-12 1200 1616
OGE140-17 1700 2116
140 50 60 150 220 64 10 96
OGE140-22 2200 2616
OGE140-27 2700 3116
OGE168-12 1200 1676
OGE168-17 1700 2176
168 80 80 150 279 64 125 104
OGE168-22 2200 2676
OGE168-27 2700 3176
OGE200-12 1200 1676
NO. Description Qty OGE200-17 1700 2176
1 Buffer 2 OGE200-22 200 2200 2676 80 80 200 330 75 20 135
2 Stopper Plate 2
i Snap-gauge ) OGE200-27 2700 3176
4 Spacer 2 OGE200-32 3200 3676
> |Bearing 4 OGE250-16 1600 2196
6 {Wheel Shaft 2 OGE250-21 2100 2696
7 Idle Wheel 1 250 90 100 200 385 80 20 140
3 Geared Motor ] OGE250-26 2600 3196
9 Drive Wheel 1 OGE250-31 3100 3696
10 Structure 1
OGE320-15 1500 2196
OGE320-20 2000 2696
OGE320-25 320 2500 3196 90 100 200 440 80 20 140
OGE320-30 3000 3696
OGE320-35 3500 4196
27 28

www.nantecrane.com www.nantecrane.com



Open Gear Wheel Block Wheel Sets for Open Gear End Carriage
OGB OGW Series
A3 A2
A1 _ _
= f ) B 7
= ; ES C2x2
I :z o4 1 — £ '4
1 B - b ) I_I__[ ' ' IT
LLU T | | le_ T C D E 'F-.‘-1 | 1-.‘-.J— C D E 'F-::-—1(51 U
© — - | =X A B | 7 [T T A B I_l_l;,,f IO E
2 / . L f—M—-N-
A== =
2, ~Lf—M—K-
< Gear Face
Model oD | Al A2 A3 C Fa W W1 | W2 H H1 H2 (0N kO P M N s ) .
(mm) | (mm) | (mm) [ (mm) | (mm) | (mm) [ (mm) | (mm) | (mm) [ (mm) | (mm) | (mm) | (mm) | (mm) [ (mm) | (mm) | (mm) 1.5C . 1.5C 150/ o 1.5C
OGB120 | 120 | 230 | 364 | 50 15 60 | 2301 200 | 15 | 200 | 50 40 14 60 92 3 47 N
OGB140 | 140 | 240 | 434 | 50 20 60 | 2301 200 | 15 | 200 | 50 40 14 64 96 3 54
Wheel Size 0120 2140 D168 0200 2250 2320 2400 2500
OGB168 | 168 | 270 | 438 | 80 29 80 | 230 | 200 | 15 | 250 | 50 50 14 64 | 104 3 64
A+0.1 0147 7168 7198 0238 0284 ?355 0440 0540
OGB200 | 200 | 305 | 473 | 80 30 80 | 300 | 260 | 20 | 300 | 60 60 18 75 | 135 ] 3.5 66 B40.1 3120 >140 o168 200 3250 3320 3400 3500
OGB250 | 250 | 305 | 523 | 90 35 | 100 ] 300 | 260 | 20 | 350 | 75 75 18 80 | 140 4 69 C 280 @90 9110 0120 0130 0140 0160 0180
0GB320 | 320 | 390 | 618 | 90 | 40 | 100 | 330 [ 270 | 30 [400| 85 | 85 | 22 | 80 | 140 | 4 | 69 b 070 080 090 0100 o110 0120 0140 0160
E 21 23 27 29 31 33 37 41
Open Gear Suspension Crane End Carriager F 38 38 35 57 58 54 56 58
SCE 50 50 35 77 78 74 93 98

sl ' * * I 21 23 27(+15) 29 31 33 37 41
' /jj%‘ 'E%t‘i J 10 10 12.5 20 20 20 25 25
B = N

Eﬂ 10 10 12.5 20 20 20 25 25
L 60 64 64 75 80 80 80 90
i M 22 22 27.5 40 40 40 62 65
8 N 92 96 104 135 140 140 167 180
“ P 80 84 89 115 120 120 130 140
Gear Profile M3T47 M3T54 M3T64 M3.5T66 M4T69 M5T69 M5T86 M6TS8
Bearing 6207-2RS 6308-2RS 6310-2RS 6311-2RS 6312 -2RS | 6313 -2RS 6315-2RS 6317-2RS
Model @D Sl 82 A B W C Bearing Size | @35x@80x21 | @40x@90x23 |@50xB110x27 | @55xB120x29 | 060x0130x31 [ @65x@140x33 | @75x@160x37| @85x@180x41
(mm) (mm) (mm) (mm) (mm) (mm) (mm)
SCE120-10 1000 1244 AL 182 182 182 232 232 232 300 310
SCE120-15 120 1500 1744 50 60 160 250 AC 043 048 8 o6 068 o7 P 008
SCE120-20 2000 2244
SCE150-10 1000 1350 AD 035 @40 @50 055 @360 @65 Q75 @85
SCE150-15 150 1500 1850 80 80 200 300
SCE150-20 2000 2350 w 121 123 125.5 163.5 166 166 205 215
SCE200-10 1000 1430 X 20 20 20 20 20 20 20 20
SCE200-15 200 1500 1930 80 80 320 420 Y 10 10 10 10 10 10 10 10
SCE200-20 2000 2430 V4 7.5 10 10 10 10 10 10 10
29 30

www.nantecrane.com www.nantecrane.com



. . | Applied Rail Crane Travel Speed(m/min)
NT Motor for Open Gear End Carriage Wheel | Group classification | 2y oy 10 12.5 16 20 23] 32] 40] 50] 63] go] 100
. Dia.(mm) | of Mechanism(FEM) . —
NT Series Width(mm) Permissible Wheel Load (kN) for S45C, GGG70
35 2831 2747 26.63] 2691 24.66] 2354] 21.86] 2046] 1934] 17.66] 1626
M1-M4 40 3235 3139 3043] 3075 2819 2691 2498 2338 22.10] 20.18] 18.58
o 45 3640 3532 3423 3459 3171 3027 28.11] 2631 24.86] 2270  20.90
35 2528 2452 2377 2402 2202 2102 1952 1827 1727 1577 1451
M5 40 28.89] 28.03] 27.17] 2746 2517 2402 2231 2088 1973 18.02] 1659
45 3250 3153 3057 3089 2831 2703 2510 2349 2220 2027 1866
35 3249 31.85] 3058 3058 2867 2771 2580 2421 2261 2102 19.11
M1-M4 40 37.13] 3640 3494 3494 3276] 31.67] 2948 2766] 2584 2402 2184
125 45 4177 4095 3931 3931] 36.86] 3563 33.17] 3r12] 2007 27.03] 2457
35 2901 2844 2730 2730 2559 2474 23.03] 2161 2009 1877  17.06
M5 40 3315 3250 3120 3120 2025 2828 26.33] 2470 23.08] 2145 19.50
45 3729  36.56] 3510 3s5.00] 3291 3181 20.62] 2779 2596] 2413 21.94
. Speed 40 4199 4118 3995 39.14] 3751 3628 3425 3221 307 2813 2568
Gear Motor Model Power Pole No. Moudle Ratio S0Hz 60Hz Voltage M1-M4 45 4724|4632 4495 4403| 42.19] 4082] 3853] 36.23] 33.94] 3165 28.89
(r/min) (r/min) 140 50 5249 5147 4994 4892 4688 4535 4281 4026 3771 3516 3210
M3 40 3749 36.76] 35.67] 3494] 3349 3240 3058 2876] 2694 2512 22093
NT-030 0.25kW 4p M3.5 10:1 133 176 M5 45 4218  4136] 4013 3931 37.67] 3645 3440 3235 3030 2826 25.80
M4 50 46.87] 4596] 4450 4368 4186 4050 3822 3595 3367 3140 28.67
40 4939 4799 4659  45.66] 4380 4240 4054 3867 3634 3401 3122
M3 M1-M4 45 sss6|  53.99  s2.42] 5137 4927 4770 4seo| 4351|4088 3826 35.12
NT-050 0.4kW 4P M3.5 8.5:1 176 210 50 61.73|  59.99 5824 57.08] 5475 53.00] 5067 4834] 4543 4252 39.02
M4 160 40 4410  42.85] a160] 40.77] 3910 37.86] 36.19] 3453 3245 3037 2787
M3 M5 45 49.61] 4820 4680 4586] 43.99] 4259 4072 3884] 3650 34.16] 3136
M35 50 ss.12|  s3s6] 5200 s50.96] 48.88]  4732] 4524  43.16] 40.56] 3796 34.84
NT-100 0.75kW ap M4 7.7 189 228 45 7142[ 6945  67.49]  65.52] 63.55] 61.59] 59.62[ 57.00] 53.73[ 5045] 47.17
M5 M1-M4 55 87.29] 8488 8248] 80.08] 77.68] 7528] 7287 69.67] 6567 61.66] 57.66
65 103.16] 10032  97.48] 94.64] o180 88.96] s86.12] 8234] 7760 72.87] 68.14
M3.5 220V-440V 200 45 63.77]  6201] 6026] 5850 56.75| 5499 s5324] 5090] 47.97| 4505 42.12
NT-150 1.IkW 4p M4 13:1 112 135 50Hz/60Hz M5 55 7794] 7579 73.65| 7150 6936] 6721 6507 6221] 5863 5506 5148
M5 3Phase 65 92.11| 89.57] 87.04] 8450 81.97] 79.43] 7690 73.52] 6929 65.07] 60.84
45 9091 8927 8681 8436] 8190 7944] 7699 7453 7125 67.16] 63.06
M35 M1-M4 55 111.11] 109.11] 106.11] 103.10] 100.10] 97.10] 94.09] 91.09] 87.09] 82.08] 77.08
NT-200 1.5kW 4p x: 16:1 92 110 250 65 131.31] 12895 12540 121.85] 11830] 114.75] 111.20] 107.65] 102.92]  97.01] 91.09
45 s1.17] 7971 7751 7532 7303 70.93] 68.74]  66.54]  63.62] 5996  56.31
M6 M5 55 9921 97.42] 9474 92.06] 8938 s6.69] s4.01] 8133 77.76] 7329 6882
M4 65 11724] 11513 111.96] 108.79] 105.63] 102.46] 9929 96.12] 9189 s6.61] 8133
NT-300 2.2kW 4p M5 16:1 92 110 45 118.46| 116.36] 11427 111.12] 107.98] 104.83] 101.69] 9854 9540 9120 85.96
M6 M1-M4 55 144.78] 14222 139.66] 135.82] 131.97] 128.13] 12428 120.44] 11660 111.47] 105.06
s 120 65 17111 168.08] 165.05] 16051 155.97] 15142 146.88] 14234] 137.80] 131.74] 124.17
45 105.77] 103.90[ 102.02] 99.22] 96.41] 9360 90.79] 8798 8518 8143 7675
NT-500 3735kwW ap xs 16:1 2 10 M5 55 129.27] 126.98] 124.70] 121.26] 117.83] 114.40] 110.97] 107.54] 104.10] 99.53]  93.81
65 152.78]  150.07] 147.37] 14331] 139.26] 13520 131.14] 127.09] 123.03] 117.62] 11086
55 182.58] 180.98] 177.78] 17457 169.77] 164.96] 160.16] 155.36] 150.55| 145.75| 137.74
M1-M4 65 215.78] 213.89] 210.10] 206.32] 200.64] 194.96] 189.28] 183.60] 177.92] 17224 162.78
End Carriage Spare Parts - Hand Seal Retainer End Carriage Spare Parts - Buffer 400 75 248.98] 246.79] 242.42] 238.06] 231.50] 224.95| 218.40] 211.85] 20530] 19874 187.82
55 163.02] 16159 15873 155.87] 151.58] 14729 143.00] 138.71] 134.42] 130.13] 122.98
M5 65 192.66] 190.97] 18759 18421 179.14] 174.07] 169.00] 163.93] 158.86] 153.79] 145.34
75 22230] 22035 216.45] 21255 206.70] 200.85] 195.00] 189.15] 18330 177.45] 167.70
65 272.09] 269.72] 267.36] 262.63] 257.89] 250.80] 243.70] 236.60] 229.50[ 222.40 21531
M1-M4 75 313.95] 31122 308.49] 303.03] 297.57] 289.38] 281.19] 273.00] 264.81] 256.62] 248.43
Dimensions (mm) 500 85 35581 35272 349.62] 343.43] 33725 32796 318.68] 309.40] 300.12] 290.84] 281.55
Model PN 5 65 242.94] 24083 23871 234.49] 23026] 223.93] 217.59 21125 20491 198.58] 19224
e M5 75 280.31| 277.88] 275.44] 27056] 265.69] 25838 251.06] 243.75] 236.44] 220.13] 221.81
A B60 50x60 | 50 | MI2*25 85 317.69] 31493 312.16] 306.64] 301.11] 292.83] 284.54] 276.25] 267.96] 259.68] 25139
0113 f“‘b/l?e' steeplate —soew g 80x80 | 70 | M12%25 65 348.80] 342.83] 339.85] 336.87] 330.91] 324.95| 316.00] 307.06] 298.12[ 289.17] 280.23
5100 | 905100 1 90 | M12%2s M1-M4 75 402.46] 39558 392.14] 388.70] 381.82] 374.94| 364.62] 35430] 343.98] 333.66] 32334
¢108 85 456.12 44832 44442 44052 43273 424.93] 41323 401.54] 389.84] 378.15] 366.45
o g5 |BI20 | 100x120 | 110 | M12*25 630 65 311.42] 306.10] 303.44] 300.78] 29545| 290.13] 282.15| 274.16] 266.18] 258.19] 250.20
@110 BI60 | 160x160 | 150 | M12%25 M5 75 35934 35319 350.12] 347.05] 34091 334.77] 32555 316.34] 307.13] 297.91] 288.70
~— ! o0 |/ N - - 5200 | 200200 | 190 | M12%25 _ 85 407.25] 40029 396.81] 39332] 386.36[ 379.40] 36896] 358.52f 34m08] 337.63] 327.19
Special Note: NANTE can offer 42Crmo forged steel material for heavy duty crane, and the wheel load is 1.3time more than S45C wheel material under the

www.nantecrane.com

32

www.nantecrane.com




	NANTE Crane Components Catalogue 2021 update 17
	NANTE Crane Components Catalogue 2021 update 18
	NANTE Crane Components Catalogue 2021 update 19
	NANTE Crane Components Catalogue 2021 update 20

